Notes on Consumer Surplus, Producer Surplus, and Dead Weight loss

Consumer Surplus is defined as the difference between the price a customer willing to pay for a product and the price that he actually ends up paying. When a consumer gets to purchase a good at a lower price than the price he is willing to pay, he gets more benefits creating a consumer surplus. As an example, for a necessity like food consumer would be willing to pay a higher price as it is a necessity. But at normal market conditions consumer can obtain food at a relatively lower price than what he is willing to pay and it creates a consumer surplus. When the utility (satisfaction) of a good falls the consumer surplus reduces as the consumer will not be willing to pay higher price. The consumer surplus can be visually represented as follows:
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Imagine rummaging through a rack of clothes at TJ Maxx. You come across a shirt, and immediately a price pops into your head. You think to yourself, I would be willing to pay $25 for this shirt.  That means, $25 is your marginal benefit (or demand – the willingness to pay).  Then you look at the price and see a tag of $16. You are happy!! You have a consumer surplus of $9.

At the other end of the transaction, TJ Maxx corporate office bought the shirt you are looking at on closeout. They estimate that it costs them $8 to put that shirt on the rack. When you buy the shirt for $16 they are happy too. They have a producer surplus of $8.
In this example, the two economic agents (the store and the customer) should make an exchange. 
Consumer surplus will exist as long as the marginal benefit to the consumer is greater than or equal to the price the consumer must pay.  It is the area between D and P

Produce surplus will exist as long as the price is greater than or equal to the marginal cost of producing the good or service.  It is the area between P and MC
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In the perfectly competitive model, exchanges will be made all the way over to the interception of demand and supply (equilibrium). After that point, for example in the graph above, when the quantity is 700 the marginal benefit (the amount someone is willing to pay) is about $3 and the marginal cost of producing the good is about $7. In this case, it does not make sense for the two economic agents to make an exchange. To the 700th customer the marginal benefit of the good is only $3. The company’s cost to get the good to the 700th customer is $7. Therefore, it is inefficient to make an exchange. This is true at any quantity above 500 in the picture above.  
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In an imperfect product market the price and quantity are determined from the intersection of MR and MC.  (Go down to find Q* and up to the demand curve to find P*). The profit maximizing price is denoted by P* and the profit maximizing quantity is denoted by Q*. Exchanges are made up to the quantity Q*.  The area of consumer surplus is the space between the demand curve (also known as the marginal benefit line) and the price. Therefore, the areas of consumer surplus are labeled 1 and 2. The area of producer surplus is the space between price and marginal cost (areas 3 and 4).  
There is no surplus after Q* because there are no exchanges made even though the demand (marginal benefit) is greater than the marginal cost.  In the area where D > MC there should be an exchange made but there is not (this is shown as area 5 above).  This phenomena when D is greater MC but there is no exchange made is known as a dead weight loss. Dead weight losses occur in imperfect competition, or when there are taxes, or when there are price ceilings or floors.
 http://faculty.lebow.drexel.edu/McCainR/top/prin/txt/Monch/Mon21.html  This provides a bit more information on the topic.
[image: image2.png]it

Deactweight Loss
of Monopoly

o




Dead weight loss occurs when people who would have more marginal benefit than marginal cost are not buying the product. The company does not want to lower their price to all of their customers because they would lose profits.  
Taking advantage of the dead weight loss. 

Recently, we have seen a lot of companies recognize the dead weight loss as a potential area of additional profit.  From the company’ perspective, these are customers who would buy the product if the price was a little lower. They are on the margin.  The company wants these people to be customers but they know they can’t lower their price. So what they do is lower their price for new customers only. Have you ever seen a company do that? Now you know why.  When incentives are offered to new customers only, the dead weight loss gets smaller and surpluses increase.
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Use the graph above to answer a-g. 

a. Mark the perfectly competitive market price with Pc, and quantity with Qc.

b. Mark the monopoly price with Pm and Quantity with Qm.

Put number in the open areas. 

c. What area would represent the consumer surplus if the firm was a monopoly?

d. What area would represent the producer surplus if the firm was a monopoly?

e. What area would represent the consumer surplus if the industry was perfectly competitive?

f. What area would represent the producer surplus if the industry was perfectly competitive?

g. What area would represent the dead weight loss is the firm was a monopoly?

Answers are below.

Answers:
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a. Mark the perfectly competitive market price with Pc, and quantity with Qc.

b. Mark the monopoly price with Pm and Quantity with Qm.

Put number in the open areas. 

c. What area would represent the consumer surplus if the firm was a monopoly?  1,2
d. What area would represent the producer surplus if the firm was a monopoly? 3,4,6,7
e. What area would represent the consumer surplus if the industry was perfectly competitive? 1,2,3,4,5
f. What area would represent the producer surplus if the industry was perfectly competitive? 6,7,8
g. What area would represent the dead weight loss is the firm was a monopoly? 5,8
